Efficiency vs hit

0'“.‘3 10 15 20 25 30 35 40
1P hitsm

—— D _O!IQWWTWW
—e— DOM”pixelCPETemplate_si e(gZ ttbar-pl asel-new%eom
—— DQM pixelCPETemplateCutChiSquarel0_step2_ttbar-phasel-newgeom
—— DOM pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
— —— DQM”pixelCPETemplateCutChiSquare20_step2_ttbar-phasel-newgeom
I Efficienc] —— b pixelCPETemplateCutChiSquare30_step2_ttbar-phasel-newgeom
0 0.02p
b4 .
@ o . .
®.O018F{---i-f-F
%.016F
[
$.014F
S E
£.012F]
) o
0.0l
0.008F
0.006F
0.004f
0.002F
o “OpT
= . .
§ i o B
15pq-{- t~
H 1.1 H H H H
6 8 10 12 14 16 18 20 22 24

TP layers

Efficiency vs pixel layer

¢ 0.05F

—
4

5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.0
018
016
014

o efficiencyys 3D laye

18 20
TP 3D layers



	Contents
	Page 1


